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PL-Kj:Uniwersytet Jagiellonski mus.ms 40598:Kraków lute ms (c.1600), f. 32v. Encoded and edited by Sarge Gerbode.

4) c in orig.
3) a on 1st course in orig.
2) d in orig. Changed to honor imitation in ba 11.
1) Apparent pickup bar before this one deleted as discordant. For deleted bar, see Appendix.
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4) Note ambiguous: could be f or d on 5th course.
3) d on 5th course in orig.
2) c on 4th course in orig.
1) Note indistinct. Could be a c as well.
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





































  










 


 



 





  













 









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



 
 

















 




 































































 









 


















 
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

















 






























 



 




















 





















 










   
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








 











1) Note added by editor.
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Pickup bar deleted by editor as discordant.
Appendix
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